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1. Ans : C) 4.8 x 10 -2 V    

e = 𝑀
𝑑𝑖

𝑑𝑡
 =

µ0𝑁1𝑁2𝐴

𝑙
 
𝑑𝑖

𝑑𝑡
 

e = 
4𝜋𝑥10−7 𝑥 2000 𝑥 300 1.2 𝑥 10 −3

0.3
 
[2−(−2)]

0.25
 

e = 4.8 x 10 -2 V    

 

2. Ans  :  D) 
𝑎2𝑇3

3𝑅
    

Given ∅ = 𝑎𝑡(𝑇 − 𝑡) 

Induced emf , E = 
𝑑∅

𝑑𝑡
 = 

𝑑[𝑎𝑡(𝑇−𝑡))

𝑑𝑡
 

E = at (0 - 1) + a (T - t) 

E = a (T - 2t ) 

Induced emf is a function of time. 

Heat generated in time T is 

H = ∫
𝐸2

𝑅

𝑇

0
𝑑𝑡  = 

𝑎2

𝑅
∫ (𝑇 − 2𝑡)2𝑇

0
𝑑𝑡 

H = 
𝑎2𝑇3

3𝑅
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3. Ans : D)  
𝐵0

2 𝜋2𝑟4

𝑅
      

P = 
𝑒2

𝑅
 

e = 
𝑑∅

𝑑𝑡
   = 

𝑑(𝐵𝐴)

𝑑𝑡
  = 𝐴

𝑑𝐵

𝑑𝑡
  = 𝐴

𝑑(𝐵0𝑒−1)

𝑑𝑡
   = AB0e

-1 

P = 
𝑒2

𝑅
  = 

(𝐴𝐵0𝑒−1)2

𝑅
    

P = 
𝐵0

2 𝜋2𝑟4

𝑅
  since e-2 ~ 1 

 

4. Ans : A) 1 : 2     

Self inductance of a solenoid  L = 
𝜇0𝑁2𝐴

𝑙
   = 

𝜇0𝑁2𝜋𝑟2

𝑙
 

Given N1 = N2 and  
𝑙1

𝑙2
 = 

𝑟1

𝑟2
 = 

1

2
 

so 
𝐿1

𝐿2
 = 

𝑙2

𝑙1
 x ( 

𝑟1

𝑟2
 )2 

𝐿1

𝐿2
 = 

2

1
 x ( 

1

2
 )2       →    

1

2
 

 

5. Ans : D) 0.02 V 

e = −
𝑑∅

𝑑𝑡
    

e =−
(𝑁𝐵𝐴𝑐𝑜𝑠90−𝑁𝐵𝐴𝑐𝑜𝑠0)

𝑑𝑡
  = 

𝑁𝐵𝐴

𝑑𝑡
 = 

800 𝑥 5 𝑥 10−5 𝑥 0.05

0.1
 

e = 0.02V 

 

6. Ans : A) 0.138 H    

Magnetic potential energy  U = 
1

2
 LI2 

L = 
2𝑈

𝐼2
  = 

2 𝑥 25 𝑥 10−3

(600 𝑥 10−3)2
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L = 0.138 H    

 

7. Ans : D) 1 H 

ϕ = LI 

L = 
𝜙

𝐼
  =  

𝑁𝜙

𝐼
= 

1000 𝑥 4 𝑥 10−3

4
 

L = 1 H 

 

8. Ans : B) πµ  V    

Magnetic flux, ϕ = B.A 

ϕ = B.πr2 

Induced emf |𝑒| = 
𝑑∅

𝑑𝑡
   = Bπ2r

𝑑𝑟

𝑑𝑡
 

e = 0.025 x π x 2 x 2 x10-2 x 1 x 10-3 

e = π x 10-6    =  πµ V 

 

9. Ans : B)  Kt      

From work energy theorem Wnet = ∆𝐾𝐸  

Given F = 
𝐾

𝑣
 

a = F/m  = 
𝐾

𝑚𝑣
 

𝑑𝑣

𝑑𝑡
 = 

𝐾

𝑚𝑣
  →  K dv =

𝐾

𝑚
 dt 

∫ 𝑣𝑑𝑣
𝑣2

𝑣1
 = 

𝐾

𝑚
 ∫ 𝑑𝑡

𝑡

0
 

𝑣2−
2 𝑣1

2

2
 = 

𝐾

𝑚
 (t-0)  

𝑚
𝑣2−

2 𝑣1
2

2
  = kt 
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1

2
 m(v2

2 - v1
2) = Kt 

∆𝐾𝐸 = Kt  so From work energy theorem W= ∆𝐾𝐸 = Kt 

 

10. A) t    

From v = u + at 

v = 0 + at     →  v = at 

Power P = F x v  

P = ma x at    →  P = ma2t 

P α t 

 

11. C) 4.5 J    

P = mu    →  u = 
𝑃

𝑚
  = 

8

2
  = 2 ms-1 

a = 
𝐹

𝑚
      →  a = 

0.2

4
  = 0.05 ms-2 

s = ut + 
1

2
 at2    → (2 x 10) + 

1

2
( 0.05 x 102)  = 22.5 m 

W = F.S = 0.2 x 22.5 = 4.5 J 

According to work energy theorem, work done is equal to change in kinetic energy 

 

12. Ans : D) 1500 J 

workdone = Area under F - x graph 

W = Area of rectangle  + Area of triangle  

W = (100 x 10) + 1/2 (10 x 100)  

W = 1000 + 500 = 1500J 

 

13. Ans : A) 1 MW      
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Given : v = 2 m/s    

Area, A = width x depth = 50 x  5 = 250 m2 

Density, 𝜌 = 1000 kgm-3 

From continuity equation volume V = Av 

so, mass, m = 𝜌V = 𝜌Av 

KE = 
1

2
mv2  = 

1

2
 𝜌Av x v2 

Power = Kinetic Energy per second  

P = 
1

2
 𝜌Av3  → 

1

2
 x 1000 x 250 x 2 x 2 x 2 

P = 106 W  → 1 MW 

 

14. Ans = A) 41.9 x 10 8 kg     

E = mc2 

𝑑𝐸

𝑑𝑡
 = 

𝑑𝑚

𝑑𝑡
 c2 

𝑑𝑚

𝑑𝑡
  = 

𝑑𝐸

𝑑𝑡
 x 

1

𝑐2
  → 3.77 x 10 26 / (3 x 108)2 

𝑑𝑚

𝑑𝑡
 = 41.9 x 10 8 kg     

 

15. Ans : C) 5 : 4    

KE = P2/2m 

Given P1 = P2 

𝐾1

𝐾2
=

𝑚2

𝑚1
  = 

5

4
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Answer key 

11TH - Physics  

 
1. Ans : B) 600 

𝐴. 𝐵⃗⃗ = AB COSθ  

6 = 3X 4 COSθ  

COSθ = 1/2   

θ = 600 

 

2. Ans : A) 100 ms-1    

Final Kinetic Energy, Kf = 
1

2
 mv2  = 50 J 

Initial Kinetic Energy is Ki  

Given `Ki  x  
10

100
 = 50 

`Ki  = 500 J 

1

2
 mu2  = 500   →  u2 = 

2 𝑥 500

100 𝑥 10−3
   

u = 100 ms-1    

 

3. Ans : D) 9J 

Given 𝐹⃗ = (3𝑖̂ +   𝑗̂),  𝑟1⃗⃗⃗ ⃗ = (2𝑖̂ +   𝑘̂) and 𝑟2⃗⃗⃗⃗  = ( 4 𝑖̂ + 3𝑗̂ −   𝑘̂) 
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𝑑 = 𝑟2⃗⃗⃗⃗  = 𝑟1⃗⃗⃗ ⃗ = ( 4 𝑖̂ + 3𝑗̂ −   𝑘̂) - (2𝑖̂ +   𝑘̂) = ( 2 𝑖̂ + 3𝑗̂ −   2𝑘̂) 

W = 𝐹⃗ . 𝑑 = (3𝑖̂ +   𝑗̂)  . ( 2 𝑖̂ + 3𝑗̂ −   2𝑘̂) 

W = 6 + 3 = 9J 

 

4. D) 0 

Power, P = 𝐹⃗ . 𝑣⃗     

P = FV cosθ 

In circular motion F and V are perpendicular so θ = 900 and cos90 = 0 

Hence P = 0 

 

5. Ans: D) mgh 

From work energy theorem Wnet = ∆𝐾𝐸  

Here  ∆𝐾 = 0  since the body is moving slowly and Wnet = WF + (-Wg ) 

So, Wnet = WF - Wg =  0 

WF = Wg  = mgh 

 

6. Ans : D)  50√2 ms-1 

From work Energy theorem  

Wnet = ∆𝐾𝐸 

Case (i)  

1

2
 m(100)2 - 0 = f x 1 → f = 5000m N 

Case (ii)  

1

2
 mv2 - 

1

2
 mv1

2 = f x 0.5 

m (v2 - v1
2)  =  f x 0.5 x 2 = 5000m x 0.5 x 2 
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(v2 - v1
2)  = 5000 

v1
2 = v2 - 5000 = 10000 - 5000 

v1
2 = 5000  

v1
2 = 50√2 ms-1 

 

7. Ans : B) 700 J     

P = W / t 

W =mgh/t  

W = (50 + 20) x 10 x (40 x 0.25)/10 

W = 700 J 

 

8. Ans : C) – 400 J    

From work energy theorem Wnet = ∆𝐾𝐸  

From figure 

at t = 0, v = 20 ms-1 

KE1 = 
1

2
 mv2  → 

1

2
 x 2 x 202 = 400 J 

at t = 2 s v = 0 

KE2= 
1

2
 mv1

2  → 0 

W = ∆𝐾𝐸 = 0 - 400 = - 400 J 

 

9. Ans : B)  Kt      

From work energy theorem Wnet = ∆𝐾𝐸  
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Given F = 
𝐾

𝑣
 

a = F/m  = 
𝐾

𝑚𝑣
 

𝑑𝑣

𝑑𝑡
 = 

𝐾

𝑚𝑣
  →  K dv =

𝐾

𝑚
 dt 

∫ 𝑣𝑑𝑣
𝑣2

𝑣1
 = 

𝐾

𝑚
 ∫ 𝑑𝑡

𝑡

0
 

𝑣2−
2 𝑣1

2

2
 = 

𝐾

𝑚
 (t-0)  

𝑚
𝑣2−

2 𝑣1
2

2
  = kt 

1

2
 m(v2

2 - v1
2) = Kt 

∆𝐾𝐸 = Kt  so From work energy theorem W= ∆𝐾𝐸 = Kt 

 

10. A) t    

From v = u + at 

v = 0 + at     →  v = at 

Power P = F x v  

P = ma x at    →  P = ma2t 

P α t 

 

11. C) 4.5 J    

P = mu    →  u = 
𝑃

𝑚
  = 

8

2
  = 2 ms-1 

a = 
𝐹

𝑚
      →  a = 

0.2

4
  = 0.05 ms-2 

s = ut + 
1

2
 at2    → (2 x 10) + 

1

2
( 0.05 x 102)  = 22.5 m 

W = F.S = 0.2 x 22.5 = 4.5 J 

According to work energy theorem, work done is equal to change in kinetic energy 
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12. Ans : D) 1500 J 

workdone = Area under F - x graph 

W = Area of rectangle  + Area of triangle  

W = (100 x 10) + 1/2 (10 x 100)  

W = 1000 + 500 = 1500J 

 

13. Ans : A) 1 MW      

Given : v = 2 m/s    

Area, A = width x depth = 50 x  5 = 250 m2 

Density, 𝜌 = 1000 kgm-3 

From continuity equation volume V = Av 

so, mass, m = 𝜌V = 𝜌Av 

KE = 
1

2
mv2  = 

1

2
 𝜌Av x v2 

Power = Kinetic Energy per second  

P = 
1

2
 𝜌Av3  → 

1

2
 x 1000 x 250 x 2 x 2 x 2 

P = 106 W  → 1 MW 

 

14. Ans = A) 41.9 x 10 8 kg     

E = mc2 

𝑑𝐸

𝑑𝑡
 = 

𝑑𝑚

𝑑𝑡
 c2 
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𝑑𝑚

𝑑𝑡
  = 

𝑑𝐸

𝑑𝑡
 x 

1

𝑐2
  → 3.77 x 10 26 / (3 x 108)2 

𝑑𝑚

𝑑𝑡
 = 41.9 x 10 8 kg     

 

15. Ans : C) 5 : 4    

KE = P2/2m 

Given P1 = P2 

𝐾1

𝐾2
=

𝑚2

𝑚1
  = 

5

4
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Answer key 

12TH - Physics  

  
1. Ans : C) 4.8 x 10 -2 V    

e = 𝑀
𝑑𝑖

𝑑𝑡
 =

µ0𝑁1𝑁2𝐴

𝑙
 
𝑑𝑖

𝑑𝑡
 

e = 
4𝜋𝑥10−7 𝑥 2000 𝑥 300 1.2 𝑥 10 −3

0.3
 
[2−(−2)]

0.25
 

e = 4.8 x 10 -2 V    

 

2. Ans  :  D) 
𝑎2𝑇3

3𝑅
    

Given ∅ = 𝑎𝑡(𝑇 − 𝑡) 

Induced emf , E = 
𝑑∅

𝑑𝑡
 = 

𝑑[𝑎𝑡(𝑇−𝑡))

𝑑𝑡
 

E = at (0 - 1) + a (T - t) 

E = a (T - 2t ) 

Induced emf is a function of time. 

Heat generated in time T is 

H = ∫
𝐸2

𝑅

𝑇

0
𝑑𝑡  = 

𝑎2

𝑅
∫ (𝑇 − 2𝑡)2𝑇

0
𝑑𝑡 

H = 
𝑎2𝑇3

3𝑅
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3. Ans : D)  
𝐵0

2 𝜋2𝑟4

𝑅
      

P = 
𝑒2

𝑅
 

e = 
𝑑∅

𝑑𝑡
   = 

𝑑(𝐵𝐴)

𝑑𝑡
  = 𝐴

𝑑𝐵

𝑑𝑡
  = 𝐴

𝑑(𝐵0𝑒−1)

𝑑𝑡
   = AB0e

-1 

P = 
𝑒2

𝑅
  = 

(𝐴𝐵0𝑒−1)2

𝑅
    

P = 
𝐵0

2 𝜋2𝑟4

𝑅
  since e-2 ~ 1 

 

4. Ans : A) 1 : 2     

Self inductance of a solenoid  L = 
𝜇0𝑁2𝐴

𝑙
   = 

𝜇0𝑁2𝜋𝑟2

𝑙
 

Given N1 = N2 and  
𝑙1

𝑙2
 = 

𝑟1

𝑟2
 = 

1

2
 

so 
𝐿1

𝐿2
 = 

𝑙2

𝑙1
 x ( 

𝑟1

𝑟2
 )2 

𝐿1

𝐿2
 = 

2

1
 x ( 

1

2
 )2       →    

1

2
 

 

5. Ans : D) 0.02 V 

e = −
𝑑∅

𝑑𝑡
    

e =−
(𝑁𝐵𝐴𝑐𝑜𝑠90−𝑁𝐵𝐴𝑐𝑜𝑠0)

𝑑𝑡
  = 

𝑁𝐵𝐴

𝑑𝑡
 = 

800 𝑥 5 𝑥 10−5 𝑥 0.05

0.1
 

e = 0.02V 

 

6. Ans : A) 0.138 H    

Magnetic potential energy  U = 
1

2
 LI2 

L = 
2𝑈

𝐼2
  = 

2 𝑥 25 𝑥 10−3

(600 𝑥 10−3)2
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L = 0.138 H    

 

7. Ans : D) 1 H 

ϕ = LI 

L = 
𝜙

𝐼
  =  

𝑁𝜙

𝐼
= 

1000 𝑥 4 𝑥 10−3

4
 

L = 1 H 

 

8. Ans : B) πµ  V    

Magnetic flux, ϕ = B.A 

ϕ = B.πr2 

Induced emf |𝑒| = 
𝑑∅

𝑑𝑡
   = Bπ2r

𝑑𝑟

𝑑𝑡
 

e = 0.025 x π x 2 x 2 x10-2 x 1 x 10-3 

e = π x 10-6    =  πµ V 

 

9. Ans : B)  Kt      

From work energy theorem Wnet = ∆𝐾𝐸  

Given F = 
𝐾

𝑣
 

a = F/m  = 
𝐾

𝑚𝑣
 

𝑑𝑣

𝑑𝑡
 = 

𝐾

𝑚𝑣
  →  K dv =

𝐾

𝑚
 dt 

∫ 𝑣𝑑𝑣
𝑣2

𝑣1
 = 

𝐾

𝑚
 ∫ 𝑑𝑡

𝑡

0
 

𝑣2−
2 𝑣1

2

2
 = 

𝐾

𝑚
 (t-0)  

𝑚
𝑣2−

2 𝑣1
2

2
  = kt 
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1

2
 m(v2

2 - v1
2) = Kt 

∆𝐾𝐸 = Kt  so From work energy theorem W= ∆𝐾𝐸 = Kt 

 

10. A) t    

From v = u + at 

v = 0 + at     →  v = at 

Power P = F x v  

P = ma x at    →  P = ma2t 

P α t 

 

11. C) 4.5 J    

P = mu    →  u = 
𝑃

𝑚
  = 

8

2
  = 2 ms-1 

a = 
𝐹

𝑚
      →  a = 

0.2

4
  = 0.05 ms-2 

s = ut + 
1

2
 at2    → (2 x 10) + 

1

2
( 0.05 x 102)  = 22.5 m 

W = F.S = 0.2 x 22.5 = 4.5 J 

According to work energy theorem, work done is equal to change in kinetic energy 

 

12. Ans : D) 1500 J 

workdone = Area under F - x graph 

W = Area of rectangle  + Area of triangle  

W = (100 x 10) + 1/2 (10 x 100)  

W = 1000 + 500 = 1500J 

 

13. Ans : A) 1 MW      
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Given : v = 2 m/s    

Area, A = width x depth = 50 x  5 = 250 m2 

Density, 𝜌 = 1000 kgm-3 

From continuity equation volume V = Av 

so, mass, m = 𝜌V = 𝜌Av 

KE = 
1

2
mv2  = 

1

2
 𝜌Av x v2 

Power = Kinetic Energy per second  

P = 
1

2
 𝜌Av3  → 

1

2
 x 1000 x 250 x 2 x 2 x 2 

P = 106 W  → 1 MW 

 

14. Ans = A) 41.9 x 10 8 kg     

E = mc2 

𝑑𝐸

𝑑𝑡
 = 

𝑑𝑚

𝑑𝑡
 c2 

𝑑𝑚

𝑑𝑡
  = 

𝑑𝐸

𝑑𝑡
 x 

1

𝑐2
  → 3.77 x 10 26 / (3 x 108)2 

𝑑𝑚

𝑑𝑡
 = 41.9 x 10 8 kg     

 

15. Ans : C) 5 : 4    

KE = P2/2m 

Given P1 = P2 

𝐾1

𝐾2
=

𝑚2

𝑚1
  = 

5

4
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Answer key 

11TH - Physics  

 
1. Ans : B) 600 

𝐴. 𝐵⃗⃗ = AB COSθ  

6 = 3X 4 COSθ  

COSθ = 1/2   

θ = 600 

 

2. Ans : A) 100 ms-1    

Final Kinetic Energy, Kf = 
1

2
 mv2  = 50 J 

Initial Kinetic Energy is Ki  

Given `Ki  x  
10

100
 = 50 

`Ki  = 500 J 

1

2
 mu2  = 500   →  u2 = 

2 𝑥 500

100 𝑥 10−3
   

u = 100 ms-1    

 

3. Ans : D) 9J 

Given 𝐹⃗ = (3𝑖̂ +   𝑗̂),  𝑟1⃗⃗⃗ ⃗ = (2𝑖̂ +   𝑘̂) and 𝑟2⃗⃗⃗⃗  = ( 4 𝑖̂ + 3𝑗̂ −   𝑘̂) 
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𝑑 = 𝑟2⃗⃗⃗⃗  = 𝑟1⃗⃗⃗ ⃗ = ( 4 𝑖̂ + 3𝑗̂ −   𝑘̂) - (2𝑖̂ +   𝑘̂) = ( 2 𝑖̂ + 3𝑗̂ −   2𝑘̂) 

W = 𝐹⃗ . 𝑑 = (3𝑖̂ +   𝑗̂)  . ( 2 𝑖̂ + 3𝑗̂ −   2𝑘̂) 

W = 6 + 3 = 9J 

 

4. D) 0 

Power, P = 𝐹⃗ . 𝑣⃗     

P = FV cosθ 

In circular motion F and V are perpendicular so θ = 900 and cos90 = 0 

Hence P = 0 

 

5. Ans: D) mgh 

From work energy theorem Wnet = ∆𝐾𝐸  

Here  ∆𝐾 = 0  since the body is moving slowly and Wnet = WF + (-Wg ) 

So, Wnet = WF - Wg =  0 

WF = Wg  = mgh 

 

6. Ans : D)  50√2 ms-1 

From work Energy theorem  

Wnet = ∆𝐾𝐸 

Case (i)  

1

2
 m(100)2 - 0 = f x 1 → f = 5000m N 

Case (ii)  

1

2
 mv2 - 

1

2
 mv1

2 = f x 0.5 

m (v2 - v1
2)  =  f x 0.5 x 2 = 5000m x 0.5 x 2 
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(v2 - v1
2)  = 5000 

v1
2 = v2 - 5000 = 10000 - 5000 

v1
2 = 5000  

v1
2 = 50√2 ms-1 

 

7. Ans : B) 700 J     

P = W / t 

W =mgh/t  

W = (50 + 20) x 10 x (40 x 0.25)/10 

W = 700 J 

 

8. Ans : C) – 400 J    

From work energy theorem Wnet = ∆𝐾𝐸  

From figure 

at t = 0, v = 20 ms-1 

KE1 = 
1

2
 mv2  → 

1

2
 x 2 x 202 = 400 J 

at t = 2 s v = 0 

KE2= 
1

2
 mv1

2  → 0 

W = ∆𝐾𝐸 = 0 - 400 = - 400 J 

 

9. Ans : B)  Kt      

From work energy theorem Wnet = ∆𝐾𝐸  



Copyright @ THE ALCHEMIST CONSULTANCY 

 

Given F = 
𝐾

𝑣
 

a = F/m  = 
𝐾

𝑚𝑣
 

𝑑𝑣

𝑑𝑡
 = 

𝐾

𝑚𝑣
  →  K dv =

𝐾

𝑚
 dt 

∫ 𝑣𝑑𝑣
𝑣2

𝑣1
 = 

𝐾

𝑚
 ∫ 𝑑𝑡

𝑡

0
 

𝑣2−
2 𝑣1

2

2
 = 

𝐾

𝑚
 (t-0)  

𝑚
𝑣2−

2 𝑣1
2

2
  = kt 

1

2
 m(v2

2 - v1
2) = Kt 

∆𝐾𝐸 = Kt  so From work energy theorem W= ∆𝐾𝐸 = Kt 

 

10. A) t    

From v = u + at 

v = 0 + at     →  v = at 

Power P = F x v  

P = ma x at    →  P = ma2t 

P α t 

 

11. C) 4.5 J    

P = mu    →  u = 
𝑃

𝑚
  = 

8

2
  = 2 ms-1 

a = 
𝐹

𝑚
      →  a = 

0.2

4
  = 0.05 ms-2 

s = ut + 
1

2
 at2    → (2 x 10) + 

1

2
( 0.05 x 102)  = 22.5 m 

W = F.S = 0.2 x 22.5 = 4.5 J 

According to work energy theorem, work done is equal to change in kinetic energy 
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12. Ans : D) 1500 J 

workdone = Area under F - x graph 

W = Area of rectangle  + Area of triangle  

W = (100 x 10) + 1/2 (10 x 100)  

W = 1000 + 500 = 1500J 

 

13. Ans : A) 1 MW      

Given : v = 2 m/s    

Area, A = width x depth = 50 x  5 = 250 m2 

Density, 𝜌 = 1000 kgm-3 

From continuity equation volume V = Av 

so, mass, m = 𝜌V = 𝜌Av 

KE = 
1

2
mv2  = 

1

2
 𝜌Av x v2 

Power = Kinetic Energy per second  

P = 
1

2
 𝜌Av3  → 

1

2
 x 1000 x 250 x 2 x 2 x 2 

P = 106 W  → 1 MW 

 

14. Ans = A) 41.9 x 10 8 kg     

E = mc2 

𝑑𝐸

𝑑𝑡
 = 

𝑑𝑚

𝑑𝑡
 c2 
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𝑑𝑚

𝑑𝑡
  = 

𝑑𝐸

𝑑𝑡
 x 

1

𝑐2
  → 3.77 x 10 26 / (3 x 108)2 

𝑑𝑚

𝑑𝑡
 = 41.9 x 10 8 kg     

 

15. Ans : C) 5 : 4    

KE = P2/2m 

Given P1 = P2 

𝐾1

𝐾2
=

𝑚2

𝑚1
  = 

5

4
  

 


